Ch 7 – circular motion, gravitation and space test
1. Centripetal force keeps objects moving in a circular path, instead of a linear path

2. Centripetal force is a “center seeking” force towards the center of a circle.  Centripetal force is actually a force we have already learned about i.e. gravity, tension in a rope, friction between two objects etc.  These are what keep the object from flying off in a linear path

3. If the centripetal force is reduced, Inertia is what would cause the object to fly off in a straight path 

Calculate: Fc= mvt2/ r
4. The object circling has a tangential speed (scalar quantity) and a tangential velocity which would add direction since velocity is a vector.  Tangential is a tangent on a circle and the tangential acceleration involves a change in magnitude (i.e. the object is actually speeding up or slowing down)

5. Tangential speed is affected by the distance between the object and the center of the circle.

Calculate:  vt =2л r/T
T = the period (time it takes for one rev)

6. Centripetal acceleraton changes as the object circles due to a change in direction, not a change in the object’s speed or magnitude
7. An object moving at a uniform speed can still experience acceleration due to the change in direction as it circles (orbits)

Calculate:  ac=vt2/r
8. Know Newton’s Law of Gravitation and be able to look at the formula and make decisions about how the mass of the objects and their distance from one another affect the force of gravitation.  Recall that the distance should be measured from the center of one object to the center of the other.
Fg=G m1m2/r2  (G =universal gravitation constant)
9. Recall that the Fg forces are equal and opposite (Newton’s 3rd Law) so gravitational force of the Earth on the moon is the same as that of the moon on the Earth.

10. Know what a black hole is and understand the concept of the Escape velocity

11. Recognize that the Moon’s gravitational force is largely responsible for high and low tides

12. Know Kepler’s 3 Laws, especially that if 
t1 = 
t2 then Area 1 = Area 2 and the planet travels faster when it is closer to the sun on its elliptical path
